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1. XROFEZE L (SH30%, AKs50%, Bik13 108, C#Hk14 508 )

(1 4-9 (2 —4+11 (3) —8+(-5)
4)  6—(-5H) (5) —-15-8 (6) —22+51
(1 9-18 (8)  —98 4100 (9)  (—30) + (+80)
(10)  —62+37 (11)  —52+52 (12)  —29-53
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(1)

(7)

(10)

ROFIEZT L. (SH30, A0, Bi13 108, C# 14508 )

8§—-9

8§ —17

—82 + 47

(2 -9+11 3)  —94(-2)

(5) -14-8 (6) —34+52

(8)  —92+4 100 (9)  (—40) + (+80)
(11) =72+ 72 (12)  —29-68
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ROFHEEZE L. (SHK30F, A0, Bf14510%, C# 14508 )

*IEDE & B DB DHEIHE % LTINS % ik
- FFEDFEL & E I, MHEORICZ DfF 52D 5.
CREEANE D EE L, HOHMEO Z ICHHED K E WSRO B,

(1) 4-9
=-5

(4)  6—(-5)
=645
=411

(7) 9-18
=-9

(10) —62+437

=25

(2) —-4+411
(5) —-15-8
= —23

(8)  —98+100

=42

(11) —52+52

=0

(3) -84 (-5H)

=—8-5
=—13

(6) —22+51

= +29

(9)  (=30) + (+80)

= 450

(12) —29-53

= —82
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2. XoitHEEE L. (SHK30P, Afs50F, Bi143 108, C #1450 )

(1 8-9 (2 —9+11 (3) -9+ (-2)
=-1 =42 =-9-2
=11
(4)  6—(-7) (5) —14-38 (6) —34+52
=647 = —22 = +18
=413
(1) 8—17 (8)  —92+4 100 (9)  (—40) + (+80)
=-9 =48 = +40
(10)  —82+447 (11)  —-72+472 (12) —29-—68
= —35 =0 = —97
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